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Scherzo
from A Midsummer Night’s Dream

Felix Mendelssohn, Op. 61, No. 1

Allegro vivace
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Mendelssohn — A Midsummer Night’s Dream



Symphony No. 6
Ludwig van Beethoven, Op. 68
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Allegro ma non troppo d =66
[ W | r F

in Bb ——
v p cresc. - b = -
,—\\ _.’_/_:—;\ F?’\\ \
e e
.) L | L == i | |
= e v —
o — —— — — = S ' ~
D P dolce — —
—— —— = '——\l\ Ly
T e s sV
L) l V L Q (

P dolce 3
L2

tan o

L

|
ﬁ‘)
!

A s A e — o2 o _
2 =15 S W —
Vi p I P dolce
> 2 o 2
py == oPo, o o2F _ofe, 3=
C. 2 ! g ] — T £ — =
e s e E e — £ =
d " — | . " < |
S f
o e s ot
0= > -I'P = 1‘*’_ i ILFF o,
1 = Ea= E— = e
\;JU 1 1 1 ! 1
f dim. - - = - = s P




